HIOKI
LR8450-01 XEUNTOH—H
|1y bk
Wireless Modules Dedicated to
LR8450-01 Memory HiLogger

En#&EHEAZE | Instruction Manual
JA/EN

AT
600544522

Nov. 2023 Revised edition 2
LR8530A960-02

HIOKI

www.hioki.co.jp/
A4t T386-1192 RFHE FHEM/NR 81
REOBHWEDE

15.0120-72-0560

TEL 0268-28-0560 FAX 0268-28-0569
B - REOBEWEDLE
CHBEIEBEELE ((RBE) XRBREFODOEENRET

BEVWEDLEEY—EXROZXT
TEL 0268-28-1688  cs-info@hioki.co.jp

R - ®17T HEBHKASH

-CEBRESREH Y TYA MSYIVA—RTERT,
- AEOLHANBR T FEBRSERI B ENHBDET,
cAERBEFEICIDRESNIABTIEENETT,

- AEORRZEM TG - BH - KBTS EZRIELET,
CABLEHSNTVERRUNE - BRmER LR BHOBRRIBBERBRTI,

9:00 ~ 12:00, 13:00 ~ 17:00
T-B-HwBAZERL
info@hioki.co.jp

2103 JA

Printed in Japan

HIOKI

iz LEES FRILHAR
AR &

AhS 3FHE

BEKOHER : T
ESEY-I
BERANDEEWN
RAEFRFRBRTVCULERBADT, KEICRELTREE W,
- A - BEES - BAH LV TSERF - 888 Z2TRALES WL,
HKTRBAWLLEEE U EAERIIEEY —EX0RME L OCRAOBNOHCERLET,

FRBEELORIBICH S TRECAR U EZEBLE T, FRRHBELBEE. BBELRSKICE
BTV, UTORIEATICHEVN., ARREEBELBHRICKALE T, TEROBREF. FAFZRRE
=W,

RIERE
1. REEHERIFIE. ABSHEBICBHIET 2 LA RIELEY, REBHEBABRDS 3EMTY ., BABHLTE
BIBAR. FEROMEFR (WEFESOE4H) 15 3FMEREMEELET,
2. AERICACT I T7H—HBLTVWDBEA. ZDAC T 79 —DOFRIEHBIEHEARDL S 1 ERTT,
. RIEEG E OEEORIEPEIE. MRBERICHIBREL TWET,
4. FNZNORIEMERICFRR KIS AC FY T 5 DI LIBE. Z DOMBEOBHEN A ICH B & YA
ML e Fd, AEREFAC Y 7Y — = BHTERLBHFRETRLET,
5. LUTOMRE, BH5E . EHERXEHBURORIEORNRAE LET,
-1 HFER. BEFGIRG E ORI 185
2. ARV — T—TINBREDKEEBE
3. BEWVWEIFROEE, BT, BRABEICL2HMELIES
-4 BURGEAE. RMOIB I ABRECTHSNABTICR T 2TETRID RV &L 2HE B
-5 5. BURSRAERE TERS NIRRT - RBRER L LICK DRELU KB L IBH
-6, A BUKE. R RE. BROEE (BE. BAREG L), BF - R, BHEER Z0EHORE
MAK L 2HEEEBEG
1. ABOEG (EXR0E. E. RERE)
-8. ZDENZ DEENEALICH B & BB NIFWEKEE &
. UToBAR. FAERERIEOHRAE LET, BB REREHEMOULET,
-1 R DS OB, B B UK REAPERRBEBRELBE. KFRELIEE
2. FEeREg (FEA. MZEA. BRFHA. EBRA. EMHEHALE) OlRICANRZEMAATERT S
T ek, BRICERICTER WD BRWES
. BREEALCCEIREDREEVBRICHL TR, ZOBROBENKILICH 2 SEHHIBTLUIEA. K
HWEOBALEETERMUES, L. UTOBKICHLTEHELELA.
L FRREFER LI LKL DREVBEAIEYOBREICERT 2 _RNRESR
2. FURICLDAEOBRICERY 218%
B AREREEWCERUL (XY NT—VRADERZET) AEGBLAOEEADESR
. BER—-EHHEEALCRA. BLUOBROEETLE, FRUCEEOREREICLDEETERVERIE,
B, REBEZRMDIZIENHDET,
H—E R
%88 H—EIRE

w

=3

~

©

= St 2 SAW L R

https://www.hioki.co.jp/

18-06 JA-3

Hm

LR8450-01 BDEAZI = v MMIIFXDTREELHD £,
LR8530 |7/ VL REE-BEI=vk
WIRELESS VOLTAGE/TEMP UNIT
TJA4VLAZN—H)L2AZv bk
WIRELESS UNIVERSAL UNIT
JAVLRBE - BEIZvY +
WIRELESS VOLTAGE/TEMP UNIT
JAVLAGEREEIZ Y b
WIRELESS HIGH SPEED VOLTAGE UNIT
TJA4VLROTAIZY

WIRELESS STRAIN UNIT

714V L XCANIZv

WIRELESS CAN UNIT
TJAVLIABERES 2—)l

WIRELESS CURRENT MODULE

LR8531

LR8532

LR8533

LR8534

LR8535

LR8536

XL IS

CD7=E. HIOKI LR8450-01 XEU /N OH—FRERL
ZYRZTEEVLLESE #HICHODRESTIVET, ER
dZw bid Z3230 EELAN 72 T2 ZED {415 Z & T\
LR8450-01 ICEMTEHR T E I ERLDIE. EHRBE
DEFAlIE. LR8450-01 tn_ﬁ}:'@?'f‘/ﬁxﬁ— |~7_:L

ILE K UEERERIBE 55MiR (PDF) # C&L 12T
ZLICBd 3R
AETIE. VRAIVDEAUESLVERIEDLANIILELTD K

SICEALTRELET,

Eg LBV E, REETRIBEEOBEICORND
Agﬂ: EEELBVE. FCEXCSEEDBEICOR
= B D EZBENICERARREETRLET,
MNEE

EELaVE, BEXLRBPEOEZICORLDIE
ZBEMICHRARE. FRINRER (FIFE
DDOME) HNIET 2 BENR ) RV ZRLET,

HWaARNE

0O LR8530 VAV L XEE - BE1=v b
LR8531 UA¥ L XRaAZN—%)La=Zv b+
LR8532 VA VL XEE - REI=v k
LR8533 A/ VL XA@m&EREEI= v k
LR8534 71/ ¥ L XVFAIZY bk
LR8535 71/ ¥ L XCANZ1=v +

LR8536 VA VL RERET 2 —JL =ooeeeeeeee wgnhi
O Z3230 ﬁ}\ﬁﬁ LAN 7@ jg .................................... 1
O Z1008 AC 74 74 (MY 2fBEFE I — K) ~oeevees 1
O Hyfj*& ............................................................... 1
O D043 M3 X 4 NI cerererermmermmmernnmeenierinerieaiens 2
O %%%%EEEEE/\“)L (LR8534 0)]7) .............................. 1
O ;F ¥ 7° (LR8536 @59) ....................................... 5
O BURERBEZE () oooverrrereeeeereemrmmmmiiiee 1

HIOKI LR853



HIOKI

Wireless Modules Dedicated to
LR8450-01 Memory HiLogger

Instruction Manual

EN

Nov. 2023 Revised edition 2
LR8530A960-02

All regional
contact
information

HIOKI

www.hioki.com/

HIOKI E.E. CORPORATION
81 Koizumi, Ueda, Nagano 386-1192 Japan

2309 EN
Edited and published by HIOKI E.E. CORPORATION Printed in Japan

+Contents subject to change without notice.

*This document contains copyrighted content.

*It is prohibited to copy, reproduce, or modify the content of this document without permission.

+Company names, product names, etc. mentioned in this document are trademarks or
registered trademarks of their respective companies.

Europe only
+EU declaration of conformity can be downloaded from our website.
+Contact in Europe: ~ HIOKI EURPOPE GmbH
Helfmann-Park 2, 65760 Eschborn, Germany hioki@hioki.eu

Warranty

Warranty malfunctions occurring under conditions of normal
use in conformity with the Instruction Manual and Product
Precautionary Markings will be repaired free of charge. This
warranty is valid for a period of three (3) years from the date
of purchase. Please contact the distributor from which you
purchased the product for further information on warranty
provisions.

Model names

Seven different types of wireless modules are available for
the LR8450-01.

LR8530 |Wireless Voltage/Temp Unit

LR8531 Wireless Universal Unit

LR8532 |Wireless Voltage/Temp Unit

LR8533 |Wireless High Speed Voltage Unit

LR8534 Wireless Strain Unit

LR8535 Wireless CAN Unit

LR8536 Wireless Current Module

Introduction

Thank you for choosing the wireless module dedicated to
Hioki LR8450-01 Memory HiLogger. The wireless modules
can wirelessly communicate with the LR8450-01 by attaching
the 23230 Wireless LAN Adapter. For more information, such
as operating precautions and specifications, see the Quick
Start Manual and Instruction Manual (PDF) included with the
LR8450-01.

Safety notations

This manual classifies seriousness of risks and hazard levels
as described below:

Indicates an imminently hazardous situation

YL that, if not avoided, will result in death or serious
injury.
Indicates a potentially hazardous situation that,
AWARNING if not avoided, could result in death or serious
injury.
Indicates a potentially hazardous situation

é CAUTION that could result in minor or moderate injury

or potential risks of damage to the supported
product (or to other property) if not avoided.

Package Contents

O LR8530 Wireless Voltage/Temp Unit
LR8531 Wireless Universal Unit
LR8532 Wireless Voltage/Temp Unit
LR8533 Wireless High Speed Voltage Unit
LR8534 Wireless Strain Unit
LR8535 Wireless CAN Unit

LR8536 Wireless Current Module ...... Any one of them
O Z3230 Wireless LAN Adapter .........ccooiiiiiiiiiinn... 1
[0 Z1008 AC Adapter

(3-prong grounded-type power cord) ...........c.cociiennn. 1
O Mountingplate........coooiiiiii e 1
O Flat-head screw M3x4 mm ..., 2
O Connection confirmation label (LR8534 only) ............ 1
O Cap (LR8536 0Nly) ...eiveiiiiiee e, 5
O Instruction Manual (this manual) ...................cceeeel. 1

When Sending the Module for Repair

Detach the 23230 Wireless LAN adapter from the wireless
module and pack both of them.

Wireless LAN

The LR8450-01 Memory HiLogger communicates with the
23230 Wireless LAN Adapter using radio waves within the
2.4 GHz frequency band. No radio station licenses are

required; however, make sure to note the following points:

B Do not use the product near any medical devices,
including a heart pacemaker.

N Radio waves emitted from the product can cause
medical devices, such as a heart pacemaker, to
malfunctions, resulting in accidents.

HIOKI LR853



BEICHT LTI

EIEDOERIE. 23230 ERLAN 77X 722D L. 23230
EMRIZ Y bE—HEICHRE LTSV,

S LANcDWT

LR8450-01 XEU /N OH—& 23230 #EELAN 74 7%
& 2.4 GHz FEOEBRZERALTVE Y, AEmZERAY
2 L THEIGBORFFIIBED D FEAD. RO EICTEE
<fET Ly

B OER—ZAX—H—REDEERKEIDEL THER
L&aw
C FHRBDERHIR—IAX—H—PEEEEDEEIC
HEERIFL. BIMEICLZ2EHRESIZTRRITHE
nhHn £9,

g &
= R

" EERE EIORECESE. RETERE. B
BECBBRE CDARICED B REVHE. L0
BEGEELESREYL F 3 REVEBECS AFLT

O  ummLAL
CNEORRICANSEFERL. ASER. BEL
CHE L THERIENAE B EELEVIMRET,

Zlﬁt%
8 F— 0 RS % BT 30 EE SRR D <
T. LR8450-01 v EFE1 = v bZ=FERA L AL
O menrzrirsonb. HOBROBE-LEE
EXhbhdBBINABDET,

m LR8450-01 X #EfR 1= v b (Z3230 #EFRLAN 7 &
TR2) 3. EhehORMOERNREL T30 mUAR
ICBBEIICKET S

© = LR8450-01 LERI— v b L DRICEEY (B, &
DEFM L L) BEVL SICKRET S

BEVAREICHE>TD. BIEERIESBEST]D
TEEENDBHBOET

|2 = MICZ3230 ZBID (F175
NEE

MZ3230ICKASNTVBRLZERATS

O EFUSNOLLEERTZ L. Bga1= v MHIEE
TEIEENABDET,

1 #%1=v rOBEEYID. ACTHATRENT
ANT =T ILIEEE LBV TL T 0,

8530A960-02

2 @1y rDLEEIC
23230 EHELAN 7S T2
ZEETD
23230z EFTLoMD
EZLRAATLLEE L,

3 z3230icEBEINhTWVS
RLEHEDHMLTS

EICHD T3
NiEE

EM3 X4 MmO Lz2FERET3

EEMNDORQ L ZERAT 2 &, HEaMBRIELD. BUY
WHOSERI= Y bHANTEDTEEETNDHBD ET,

BEfIRIE. BEIRELREICLoDD EIDFIFS

BEICED. ABBERELIIERI- Y bOKEZ
FlIFECIEENDL DD E T,

AET35H0 MOMITARLEMAX8 mmBLE e 2
BUAR (FIRE)  wovereeererememereminannnnnn. 1
M4 CM3 X4 mm (JEaR) -+ 2
FSARSAIN— (NO.2) weeerreeeeeeeeeeeens 1

1 GEOM3IX4 mmaomitl
24T, EBga-y FOEE
(CESRZELD 173

2 MinLU2AT. BMfTHR%EEE
ICEDFIF3
B O BORLIEAELTW
FHADT, HlRGE%E CHERL<
XL,

HERL D M4 X8 mmlE




/\ WARNING

B Do not use the product in the following

applications: medical use, nuclear power,
aerospace, those involving human lives such
as transportation, and those requiring high
reliability.

Hioki shall not be held liable for any accidents
resulting in injury or death or damage to the product
(or to other property) caused by use of the product in
such applications.

/\ CAUTION

Do not use the LR8450-01 and its wireless
modules near other wireless communications
devices that use the 2.4 GHz frequency band.

Doing so may cause unstable communications or
affect the operation of other devices.

Install each wireless module (Z3230 Wireless LAN
Adapter) within a line-of-sight distance of 30 m
from the LR8450-01.

Keep clear of any obstacles, such as a wall and
metallic object, between the LR8450-01 and each
wireless module.

Failure to do so may cause unstable communications
or shorten a communication distance.

Attaching the 23230 to the
Wireless Module

/\ CAUTION

B Use the captive screw of the 23230 only.

Using another screw can damage the wireless
module.

Turn off the wireless module and disconnect the AC
Adapter.

Do not connect any input cables.

Attach the 23230 Wireless LAN Adapter to the top
side of the wireless module.

Insert the 23230 as far as it will go.

Mounting the Wireless Module
on a Wall

/\ CAUTION
B Use the M3x4 mm flat-head screws only.

Using other screws can damage the wireless module
or cause the wireless module to detach from the
mounting plate.

© =Properly secure the mounting plate on a solid

wall.

Failure to do so can cause the wireless module to
fall, causing an accident resulting in injury or death or
damage to the wireless module.

You will need:
Mounting screws M4x8 mm or longer ..........cccccceeeeeinnnee
Mounting plate (aCCESSOrY) ....ovviiiiiiiiiiiiiiiiieeeee e,
Flat-head screws M3x4 mm (acCesSOory) ........cccoueveeennnen.
A Phillip’s head screwdriver (NO. 2).........coeevviiiieieniiiiennn.

1 secure the mounting plate onto the rear of the

wireless module with two flat-head screws
(M3x4 mm, accessory).

2 Secure the mounting plate on a wall with two M4

SCrews.

No mounting screws come with the wireless module.
Use commercially available screws.

Recommended screws: M4x8 mm or longer




	英文使用说明书-日本日置 LR8530 无线电压、温度单元
	英文使用说明书-日本日置 LR8530 无线电压、温度单元.pdf1



